
  Monday 6th July 2020 
£60 - £38.38 = 

 
 

  
 

3 +  1 = 
8     3 

Word problem 

 
 
527 × 8 =  _______+ 1,720 

 
5256 ÷ 8 =  

_______ = 134 905 – 95 567 



  Wednesday 8th July 2020 
£70 - £46.03 = 

 
 

  
 

3 +  1 = 
6     5 

Word problem 

 
 
387 x 9=  _______+ 1046 

 
4914 ÷ 9 =  

_______ = 192 562– 76 298 



  Tuesday 7th July 2020 
£50 - £28.15 = 

 
 

  
 

2 +  1 = 
5     4 

Word problem 

 
 
473 x 6=  _______+ 1672 

 
3381 ÷ 7 =  

_______ = 216 812– 89 138 



  Thursday 9th July 2020 
£80 - £60.42 = 

 
 

  
 

2 +  3 = 
4     7 

Word problem 

 
 
448 x 7=  _______+ 1462 

 
2072 ÷ 8 =  

_______ = 180 561– 69 843 



  Friday 10th July 2020 
£50 - £39.07 = 

 
 

  
 

3 +  1 = 
6     4 

Word problem 

 
 
528 x 6=  _______+ 1471 

 
3222 ÷ 9 =  

_______ = 205 471– 98 269 


